

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Affiliated to Federation Internationale Des Experts En Automobile								
CEN.	NTRAL NARCOTICS BUREAU Ref : CS/CNB18012177/R1qbe2							
CORPORATE SERVICES DIVISION BLK B, POLICE CANTONMENT COMPLEX 393 NEW BRIDGE ROAD SINGAPORE 088763 ATTN: MUHAMMAD ASYRAF			Date: 14-08-2018  Code: CNB					
1.								
	Insured Veh.	SLL 9124L	Veh. Inspected	SLP 4212C				
	Policy No.	HOMCNBECI18300637	Coverage (\$)	0.00				
	Claim No.		Excess (\$)	0.00				
	Assign From	MUHAMMAD ASYRAF	Assign Date	29/06/2018				
2.		Vehicle Partic	culars & Condition					
	Make & Model	TOYOTA VIOS 1.5E A	c.c	1496				
	Engine No.	HIDDEN	Year of Reg.	2017				
	Chassis No.	MHFB29F3002010285	Colour	GREY				
	Odometer	101561	Steering	IN ORDER				
	Brakes	IN ORDER	Modification	SPORTS RIM				
	General	FAIR						
3.		Condition	ons of Tyres					
		Size	Make	Balance				
	R/H Front Tyre	195/50 R16	BRIDGESTONE	5 mm				
	L/H Front Tyre	195/50 R16	BRIDGESTONE	5 mm				
	R/H Rear Tyre	195/50 R16	BRIDGESTONE	5 mm				
	L/H Rear Tyre	195/50 R16	BRIDGESTONE	5 mm				
4.		Description	on of Damages					
	THE VEHICLE SU	STAINED DAMAGES AT THE O/S	REAR PORTION.					
	DAMAGES SEE D	ETAILS.						
5.	,	General	Information					
	Accident Date	01/06/2018	Inspection Date	09/07/2018				
	Survey held at	74 KIAN TECK RD						
	Repairer							
5a.		Re	emarks					
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.							
5b.	<b>b.</b> Estimate Days of Repair							
	ESTIMATED NORI	MAL PERIOD FOR REPAIR:	2 Working Days					



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 2

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLP 4212C

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR BUMPER	DEFORMED	504.90	504.90
1	REAR BUMPER REINFORCEMENT	SERVICEABLE	323.30	-
2	REAR BUMPER SIDE RETAINERS @\$116.30	SERVICEABLE	232.60	-
2	REAR BUMPER SIDE HOLDER @\$22.30	SERVICEABLE	44.60	-
1	N/S REAR BUMPER REFLECTORS	SERVICEABLE	130.50	-
10	REAR BUMPER CLIPS @\$4.30	NECESSARY	43.00	43.00
2	REAR BUMPER SPLASHIED COVER @\$57.50	SERVICEABLE	115.00	-
1	REAR END PANEL	SERVICEABLE	694.70	-
1	REAR END PANEL INNER TRIM	SERVICEABLE	234.30	-
3	REAR END PANEL INNER TRIM CLIPS @\$4.30	SERVICEABLE	12.90	-
	LESS 25% DISCOUNT		-583.95	-136.97
			1,751.85	410.93
	SPECIAL NETT ITEMS			
1	REAR BUMPER PARKING SENSOR (SN)	SERVICEABLE	500.00	-
			500.00	1
	<u>LABOUR</u>			
	TO REINSTALL OF REAR BUMPER PARKING SENSOR AND SIMULATON TEST.		150.00	60.00
	TO CHECK ELECTRICAL LIGHTING CONCERNED.	NOT NECESSARY	60.00	-
	TO RUST-PROOFING OF THE AFFECTED AREAS.	NOT NECESSARY	160.00	-
	PANEL BEATING, KNOCKING AND STRAIGHTEN THE NECESSARY PORTION, REMOVE AND RENEWAL OF PARTS, ADJUST AND REALIGN THE SAME.		700.00	200.00
	PUTTY AND SPRAY PAINTING OF THE AFFECTED PORTION.		600.00	200.00
			1,670.00	460.00
	GRAND TOTAL		3,921.85	870.93

RECOMMENDED COST OF REPAIRS			870.93
-----------------------------	--	--	--------

Report Ref No. CS/CNB18012177/R1qbe2

Report Ref No. CS/CNB18012177/R1qbe2





MOHAMMED RASUL BIN MOHD YUNUS

**Automotive Assessor** 

X.S.

**ADRIAN LING WAI PING** 

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg, No: 199607198R GST Reg, No. 19-9607198-R

## PHOTOGRAPHS FOR VEHICLE NO. SLP 4212C

### INSPECTION















51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R















51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R















51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg, No: 199607198R GST Reg, No. 19-9607198-R

## PHOTOGRAPHS FOR VEHICLE NO. SLP 4212C

### RE-INSPECTION







